BORNO. & . Kbk issosssnisin Total Pages : 12

M.Com. (Previous) ABST Examination, 2017

ADVANCED COST AND MANAGEMENT
ACCOUNTING

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(@vs-3)
Answer all questions (50 words each).
All questions carry equal marks.

gt w7 stfrard € Y&F WA & IW 50 v ¥
s 7 2 9ft wA # o wEE

PART-B [Marks : 50]
(gve-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

TOF THE W TH-UE W IO g, HE Ui WA S
TF YO H IW 250 TR F A T W@
aft wel # ot gEA #
PART-C [Marks : 30]
(@re-¥)
Answer any two questions (300 words each).

All questions carry equal marks.
FE S WA FINU TIF T FTIW 300 IR F

w7 2 ot W ® 3% EA #
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PART-A
(@uz-2a7)

UNIT-I
(FTS-1)
1. (1)  What is going rate of Pricing ?
T8 B OAE W T R
(i) What is Pareto Analysis ?
Pareto favermm =m 7

UNIT-II

(FFE-1I)

(iii) How to compute Shut Down Point ?
T I OF g R T B oA oI R
(iv)y What i1s Throughput accounting ?

Oicllic-Culi il

UNIT-1H

(3%TE-111)

(v)  When does activity based costing technique use ?
fem smufid @ frufm w=fls & W@ +9
fgm s 22
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(vi) Define the terms absorption of overheads and
Imputed cost acconding to Cost Accounting Standard
on “Overhead” (CAS-3).

IEY W oA SEE YT F oTUR W
Iuferat w1 eravimer g T e Y=l &
T |

UNIT-1V

(FFTE-TV)

(vit) Differentiate between Partial plan and Single plan of
standard costing.

T A A@E w A a1 TEe e #
T IyafgT  HIfFI
(viii) How Target cost is determined ?

T drE F PR d fem oS 2

UNIT-V
FFE-V)
(ix) What are the components of Economic Value Added ?
AffE T S TwRE o ¥
(x) What is Balance Score Card ?

qged R FE T B2
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PART-B
(Tve-%)
UNIT-1
-1
2.  What are methods available for pricing of new products ?
T oI ® oy i @ fo whR-wh et
ECcCo il 2
OR (3794T)
How is Pareto Analysis helpful in pricing of products in
the case of a firm dealing with multi-products ?

W@ UF FH IE-I@E ° TEER W ¥ W SaE ®
Teg P # W favemm #9 IwEnd ¥2

UNIT-II

FHTE-11)
3. Pragati Infotech manufactures computer accessories

and parts. The following are the total cost of processing
1,00,000 units :

T THRE FER k TRA dW TR w1
R F 100000 TFEA W WEAFET F [ omm
e %

Direct material cost T 5 lakhs
Direct labour cost T 8 lakhs
Variable factory overheads T 6 lakhs
Fixed factory overhead T 5 lakhs
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The purchase price of the components is ¥ 22. The fixed
overhead would continue to be incurred even when the
component is bought from outside, although there would
have been reduction to the extent of T 2,00,000.

TRE H F TR T 22 ¢, 9 TRE TR ¥ W
s % a8 ot wnd wrm TR @ e TEfy sed
T T T TE HA B

Required .

(@ Should the part be made or bought considering

that the present facility when released following a
buying decision would remain idle ?

T ® TlET AET I AT g8 WAd gL i
o 2 R R W Tm gE E e fafeew
Ly P

(b) In case the released capacity can be rented out to

another manufacturer for ¥ 1,50,000 having good
demand, what should be the decision ?

T Y G H T IAEHE H 150000 F
P w g 9 ®T " Ivesy g @ fefg e
B afeR?

UNIT-IIT

(FE-11D)
4. What is activity based costing ? What are steps involved
to implement activity based costing system successfully ?
Explain.
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fFn e @R fraitr = #7 e ot @
i =1 SweagEs @] $W % fau # FEH oM
R g |

OR (37eam)

Explain the following in special reference to Cost
Accounting Standard-10 :
T SE@lET ¥Ae-10 F favy g=d o frer % gueed
(a)  Disclosure requirement.

YHIAFIOT  ETAFA
{(b)  Abnormal Cost.

A T
(¢) Presentation.

Eieas

UNIT-1V
GFE-1V)
5. What do you mean by Target Costing ? How is it
calculated 7 Explain different components in detail.
e A e | o ow®n ouuw W2 gme i
=Y T 87 o Suew @ frege § auwed
OR (37%4@0)
Board of directors of a large concern wants to know, what
are the possible causes for cost variances ? You are asked
to investigate causes of variances and prepare Variance report
to be submitted to board of directors.
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T 9% TAUE ® GEedE WIS A% WA aEd @
fir orm fa=ol & wenfaa FRO T €2 e e
F TN F AR FN ¥ qU guer AvEd F
m w0 % fau fam wf@s dar we #

UNIT-V

(FFE-V)
6. 'What is Balance Score Card ? Explain four perspectives of
Balance Score Card in detail.

e @R FE 7 87 I @R R & R
I W T HIE

OR (319an)

Calculate the Economic Value Added from the following
information :

= el ¥ afdw TR w1 oMo W
NOPAT 10,00,000
Rate of return on risk free securities 10%
Market Rate of Return 15%
Beta 0.25
Cost of Debt 11%
Mixture Ratio of Equity and Debt 132
Invested Capital < 37,50,000
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PART-C
(@us-9)
UNIT-I
D)

7. Do you agree that Penetration pricing is more aggressive
strategy than Skimming pricing 7 Explain with suitable
examples.

A WEE € R IR gew A =i gw i
¥ R AEME 2?7 SHE OSSRl ¥ W i

UNIT-II

(BTE-11)
8. How Marginal Costing is helpful to take export verses
Local Sales Price Mix Decision ?
frale = w wrm fawa fosm fofr § dv @m

TEFET HY TTERt B wwa 82

UNIT-III

(F%TE-110)
9.  Vadilal Company decides to apply ABC analysis to three
product line : Ice Creams, Milk Shakes and Food Products.
It identifies four activities and activity-cost rates for each
activity as :

e FF T AW SER gt % for wetsh
foveam @ w0 w1 fofg o B 2 W oSam ¥
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aEEfEr, foes ¥% 99 BT SARl 3R 9R fEe
Iy TAF ® fou W W W o§@ W

Ordering < 1,000 per purchase order
T 800 per delivery

< 200 per hour

Delivery and receipt of merchanidse
Shelf-stocking

Customer support and assistance T 2 per item sold

The revenues, cost of goods sold, store support cost, and

activity area usage of the three product line are :
i IO doft ® fow oy WR TR Wie @ @R,
R e q e &3 WM W wER ¥

Financial Data Ice-Creams Milk-Shakes Food
Product
4 4 T
Revenues 5,70,000  6,30,000 5,20,000
Cost of Goods Soid 3,80,000  4,70,000 3,50,000
Store support 1,14,000 141,000 1,05,000
Activity-area usage (cost-atlocation base)
Ordering (Purchase orders) 30 25 13
Delivery (Deliveries) 98 36 28
Shelf-stocking (Hours) 183 166 24
Customer Support (Item sold) 15,500 20,500 7,900

Under its previous costing system Vadilal Company
allocated support costs to products at the rate of 30% of
cost of goods sold.

TE @ s & AR S HE T T H
IR WA T T W 30% F R Y omEfom w
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Required :
(i)  Use the previous costing system to prepare a Product
Line Profitability Report for Vadilal Company.

@ AR SR $ TRvia IRl F RIS
R adlae FEA ® fae FR e

(i)  Use the Activity Based Costing system to prepare a
product-line profitability report for Vadilal Company.
TR FEA ® fu SRl w1 arREwa
Tt FR w0 ® fau few omnfm @rm
fyftor sgeeen #1 w@m w1

UNIT-1V

(FE-IV)
10. Muktak Ltd. furnishes the following information :
T fao fr g wm w # -
Maiterial purchased 10,000 pieces
at¥ 1.10 T 11,000

(Tt % 10000 TS T1.10 W)
Material consumed 9500 pieces at Rs. 1.10 T 10,450

(gmeft # 9500 T®E ¥ 1.10 W IUGRT)
Actual wages paid 2475 hours at ¥ 3.5 T 8,662.50
(2475 93 #1 T 3.5 ¥ W A TGS

ol )

Actual factory expenses
incurred T 17,000 (budgeted T 16,500)

(X 17,000 aSrafas SR
RRCER ALY
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-

Unit produced 900 units and sold at ¥ 60 per unit
(900 YA S & W qen T 60 T R A= )
The standard rates and prices are as under :
Tt w aw g e €

Direct material ¥ 1 per unit

(Fag oot T1 Wi o)

Standard input 10 pieces per unit

(Y919 P 10 ZTHT I TEE)

Direct labour rate I 3 per hour

(Y99 49 W T3 ¥ woen)

Standard requirement 2.5 hours per unit

(THIT EvgEN 2.5 WU WA )

Overhead T 6 per labour hour

(I9femm T6 wfa sm woan)

Required :
1 Prepare standard cost sheet and calculate all possible
variances,

Yo W A dEn Fifwa go ot gnnfEm
famro =Y o wifsd

(i)  Pass necessary journal entry for transferring the
variances to their respective accounts,

freron ) wafm @nl ¥ et w3 R
HEvEE  qfatedl Fif)

(iti) Prepare material control account and work-in-
progress account.

et R @@ dwr 9 s @ S
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UNIT-V

(FFE-V)
11. Write short notes on the following :
W dfaw feufrt fafew .
(i) Economic Value Added.
sfi T il
(i) Cash value added.
TR e

(iii) Cash Flow Return on Investment.

fafam w g wmE W
(iv) Market Value Added.
ISR T S
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